
 

 

Yellow C 
1) 

 

 

12 x 9 

2) 

 

 

83 + 84 - 93 

3) 

 

 

260 – 14.68 

4) 

 

 

Work out 345 divided by 100 

5) 

 

 

Using the paths shown, the distance from Summerfield to Kensington is 

16.2 kilometres. How far is it from Norwood to Kensington? 

 
 

6) 

 

 

It costs £7.95 to go to the cinema. If 100 people go to the cinema, how 

much would it cost? 

 

 

7) 

 

 

Which is later? 

A - 1 and half hours before 4:44pm 

B – 2 hours 12 minutes after 1:02pm 

 

 

8) 

 

 

A group of 14 friends get 4 person taxis into town. They fill as many 

taxis as possible. Each taxi charge a flat rate of £12. How much will the 

group have to pay in total? 
 

 


